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1. Complete the following table:

0 (degrees) ‘ 0 (radians) ‘ sin 0 cos 6 tan
0 0 0 1 0
30°
45°
60°
/2
3m/4
T
/6
315°
—300°




. Which is larger, cos 280° or cos 290°7:

. What is the domain of the function Incos @ for 0 < 6 < 27 = 360°7

. Ifsinf =1/5 and 7/2 < § < 7, find the values of the other five trigonometric functions.

. What is the length of an arc of a circle of radius 6 subtended by a 60° angle?

. What is the area of a sector of a circle of radius 5 subtended by an angle with measure 37 /47



